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QUESTION 1

Which statement is true about how ONTAP uses system memory? 

A. System memory is used as a read and write cache. 

B. System memory is used to protect local uncommitted writes against power failures. 

C. System memory is used as a read cache only. 

D. System memory is used to protect an HA partner\\'s uncommitted writes against power failures. 

Correct Answer: A 

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1003751/~/how-does-data-ontap-utilizesystem-
memory-for-read-and-write-caching%3F

 

QUESTION 2

Click the Exhibit button. 
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You have configured CIFS auditing. After a week, all users are complaining that they cannot access the CIFS shares
anymore. 

Referring to the exhibit, what is the reason for this problem? 

A. The audit log volume is full. 

B. CIFS auditing only works with SMB 3. 

C. The CIFS license is missing. 

D. The affected users are not showing in the share ACLs. 

Correct Answer: C 

 

QUESTION 3
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Click the Exhibit button. 

The 0f FCP port is not showing up in the list of FC/FCoE and NVMe adapters as shown in the exhibit. What is the
problem in this situation? 

A. The 0f FCP port is configured as a target port, but it is not connected to a switch. 

B. The 0f FCP port is configured as a CAN port for FCoE. 

C. The 0f FCP port is configured as an initiator. 

D. The 0f FCP port is configured as a target port, but no SFP+ is installed. 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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You created an SVM and want to mount volume "data01" from a Windows client with the 10.10.10.50 IP address over
NFSv3. However, when you are trying to mount, you are receiving a "permission denied" error. 

Referring to the exhibit, what caused the error? 

A. The security style must use NTFS when using Windows NFS. 

B. The export policy is missing the client IP. 

C. The root volume has the wrong export policy. 

D. The NFS service is not started. 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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The corp\eva user cannot access the payroll.xlsx file on the CIFS share that is called HR. The user is a member of the
corp\Domain Users group only. 

Referring to the exhibit, what is the problem? 

A. The user has no permission to access this share. 

B. The user has no NTFS permissions for that file. 

C. The security style is not set correctly. 

D. The export policy is disabled. 

Correct Answer: A 
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